
UG/CBCS/B.A./Hons./Programme/3rd Sem./Nepali/NEPSEC1/NEPPSEC1/2021 

3124 1  Turn Over 

 
UNIVERSITY OF NORTH BENGAL 

B.A. Honours/Programme 3rd Semester Examination, 2021  

SEC1-P1-NEPALI 

Time Allotted: 2 Hours Full Marks: 60 
The figures in the margin indicate full marks. 

 
 

 The question paper contains SEC-1A and SEC-1B. 
The candidates are required to answer any one from two Sections. 

Candidates should mention it clearly on the Answer Book. 

 SEC-1A 

 jpuk ys[ku 

1. rydk pkjoVk iz”udk mÙkj ys[uqgksl~A 3×4 = 12

(d) i= ys[ku Hkusdks ds gks \ i= eq[;r% dfr izdkjdk gqUNu~ \ ds ds \ 
([k) lk{kkRdkj HkUukys ds cqf>UN \ lk{kkRdkj fyus fof/k dfr izdkjdk Nu~ \ ds ds \  

(x) laokndks vFkZ ds gks \ laokn ys[ku HkUukys ds cqf>UN \  

(?k) foKkiu Hkusdks ds gks \ foKkiu dfr izdkjdk gqUNu~ \ ds ds \  

(³) vkSipkfjd i= HkUukys ds cqf>UN \  
   

2. rydk fo’k;ek fVIi.kh ys[uqgksl~ (dquS pkj) A 6×4 = 24

(d) fucU/k j izcU/k ek> fHkUurkA 
([k) jsfM;ks ys[kudk fo”ks’krkg:A  

(x) lkjka”k ys[ku fof/kA  

(?k) lekpkjdk fofo/k ek/;eA  

(³) jpuk ys[kudks egÙoA  
   

3. rydk iz”ug:dk mÙkj ys[uqgksl~ (dquS nqbZ)A 12×2 = 24

(d) fucU/k ys[uqgksl~&(dquS ,mVk) 
(i) dksjksuk egkekjh j ;ldk izHkkoA 
(ii) bUVjusVdks mi;ksfxrkA 

([k) vk¶uks egkfo|ky;ek Nk=okldks fuekZ.k gsrq ftYykikyykbZ i= ys[uqgksl~A  
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(x) foKkiu ys[kudks egÙockjs izdk”k iknSZ foKkiudk mnkgj.k izLrqr xuZqgksl~A  

(?k) izfrosnu ys[kudks Lo:i crkm¡nS rikbZ¡dk xk¡mek lEiUu Hk,dks lkaLÑfrd dk;ZØeckjs 
,mVk izfrosnu r;kj xuZqgksl~A 

 

  
 SEC-1B 

 Hkk’kk f”k{k.k 

1. rydk iz”ug:dk mÙkj ys[uqgksl~ (dquS pkj) A 3×4 = 12

(d) Hkk’kk f”k{k.k HkUukys ds cqf>UN] Li’V ikuZqgksl~A 

([k) Hkk’kk f”k{k.kdk rgg: ds ds gqu~ \  

(x) Hkk’kk f”k{k.kek Jo.k fof/k HkUukys ds cqf>UN \  

(?k) ekrH̀kk’kk f”k{k.k HkUukys ds cqf>UN \  

(³) ljy okD; HkUukys ds cqf>UN \ mnkgj.k fn,j cq>kmuqgksl~A  

   

2. rydk pkjoVk fo’k;ek fVIi.kh ys[uqgksl~A 6×4 = 24

(d) ekrH̀kk’kkdks iz;kstuA 

([k) Hkk’kk f”k{k.kdk izdkjg:A  

(x) ljy] feJ j la;qä okD;dks ifjp;A  

(?k) Hkk’kk f”k{k.k fof/kek okpu j ys[kuA  

(³) ys[; Hkk’kkdk fo”ks’krkA  

   
3. fuEu nqbZoVk iz”udk mÙkj ys[uqgksl~A 12×2 = 24

(d) Hkk’kk f”k{k.kdks iz;kstu] egÙo] mns”;ckjs ppkZ xuZqgksl~A 

([k) Hkk’kk f”k{k.kdk rgg:dks ifjp; fnnS¡ nkslzks Hkk’kkdk :iek xfjus f”k{k.kdk egÙockjs 
ppkZ xuZqgksl~A 

 

(x) Hkk’kk ewY;k³dudk fofo/k izdkjg:ckjs lfoLrkj ppkZ xuZqgksl~A  

(?k) lekl fof/k}kjk “kCn jpuk dkS”kydks vH;klckjs ifjppkZ xuZqgksl~A  
   

 ——×—— 
 


